3 - & ‘~ <
i & O : ; :
Bipin Nambiar Shiraz Khan Kuldeep Yadav .
& (SBI PO 2018) (SBI Clerk 2018) (SBI PO 2018)
. X

Rajat Saxena Anupam Tyagi
(IBPS Clerk 2018) (IBPS PO 2018)

FrIENDS! ’ ,
WE USED TESTZONE
AND CRACKED BANK EXAMS

e qdtzuai @ e fdaa
‘ ‘ T A AAAE H(D
2w A=

IT’S YOUR TURN NOW
TAKE A FREE MOCK TEST

N ' /s
-!—Smartkeeda T

= The Question Bank -

- . » i



https://testzone.smartkeeda.com/Test/Pricing

DI Table Chart Questions for LIC Assistant

LIC Assistant Quiz 7

Directions: Study the following table chart carefully and answer the questions
given beside.

The following table shows the number of Air coolers sold by five sellers on five
different days of a week.

Monday | Tuesday | Wednesday | Thursday
A 35 45 30 70
B 45 55 90 35
C 75 35 65 55
D 60 30 45 40
E 85 40 85 65

1. If the sale of coolers from E on Friday was 60% of that on Wednesday and
Thursday together. Find the number of coolers sold by E on Friday.

A. 20 B. 30 C. 40
D.50 E. 90

2. What is the approximate percentage increase in the sale of coolers by seller A,
from Monday to Tuesday?

A. 19 B. 29 C. 39
D. 49 E. 59

3. The number of coolers sold by B on Monday is how much less than that on
Thursday and Wednesday together?

A. 20 B. 40 C.60
D. 80 E. 100

4. What is the ratio of number of coolers sold by A and D on Monday and C and B
on Tuesday?

A.10:11 B.11:10 C.19:18

D.18:19 E.20:19




5. The number of coolers sold by C on Tuesday is approximately how much percent
less than the number of coolers sold by D on Monday.

A. 42 B. 49 C.54

D. 62 E.73
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Correct answer:

Explanation:

1. Sale of coolers by E on Wednesday = 85
Sale of coolers by E on Thursday = 65
Sale of coolers by E on Friday = 60% of (85 + 65) = 60% of 150 = 90

Hence, option E is correct.

2. Sale of coolers by A on Monday = 35
Sale of coolers by A on Tuesday = 45

4535 10
100 = = x 100
35 35"

% increase =

200
=== 29% (approx)

Hence, option B is correct.

3. Required difference = (90 + 35) — 45 = 80

Hence, option D is correct.

35+60 95
4, Reqd. ratio= 55+35 90 19:18
Hence, option C is correct.
5. Number of coolers sold by C on Tuesday = 35

Number of coolers sold by D on Monday = 60




60— 35
60

Reqd. % = x 100 = 42%(approx)

Hence, option A is correct.
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